B-19-0190

<b>Event Number</b>	19-190	Organization	Lincoln Purchasing
<b>Event Title</b>	Annual Supply of Lubricants	Workgroup	Lincoln Purchasing
<b>Event Description</b>		<b>Event Owner</b>	Sharon Mulder
<b>Event Type</b>	Bid	Email	smulder@lincoln.ne.gov
Issue Date	7/19/2019 02:45:00 PM (CT)	Phone	(402) 441-7428
Close Date	8/2/2019 12:00:00 PM (CT)	Fax	(402) 441-6513

Responding Supplier	City	State	Response Submitted	Lines Responded	Response Total
Sapp Bros. Inc.	Lincoln	NE	8/2/2019 10:52:38 AM (CT)	39	\$273,265.37
Lubrication Engineers, Inc	Fort Worth	TX	8/2/2019 11:23:48 AM (CT)	34	\$1,367,630.19

Please note: Lines Responded and Response Total only includes responses to specification. No alternate response data is included.

1	Engine Oil, Diesel, Premium H	eavy-Du	ty 15W-40, E	Bulk					Manufacturer and Model
	Supplier	QTY	UOM	Estimated	Unit Price	Extended	Supplier Notes	Manufacturer	Please provide Manufacturer and Model bidding.
									MOBIL DELVAC 1300 SUPER
									(CK-4) 15W40. SOON TO BE
			- 11		4	4			DESIGNATED AS A "SYNTHETIC
	Sapp Bros. Inc.	3950	Gallon		\$10.89	\$43,015.50		Mobil or Shell	BLEND" OIL
									Lubrication Engineers 8700
	Lubrication Francisco de la	2050	Callan		¢12.24	¢40.240.00		Na alait an Claatt	Monolec® Engine Oil
	Lubrication Engineers, Inc	3950	Gallon		\$12.24	\$48,348.00		Mobil or Shell	Packaged in 275 gallon tote
2	Engine Oil, Diesel, Premium H	eavy-Du	ty 15W-40, 5	55 Gallon Drum					Manufacturer and Model
	Complian	OTV	11004	Estimated	Unit Price	Extended	Complian Natas	D.A for a to	Please provide Manufacturer
	Supplier	QTY	UOM				Supplier Notes	Manufacturer	and Model bidding.
									MOBIL FLEET 15W40, NOW
									CALLED "MOBIL HDEO (CK-
									4)15W40" (HDEO DESIGNATES
	Sapp Bros. Inc.	2000	Gallon		\$8.87	\$17,740.00		Mobil	"HEAVY DUTY ENGINE OIL")
					,	, ,			Lubrication Engineers 8700
									Monolec® Engine Oil 55
	Lubrication Engineers, Inc	2000	Gallon		\$12.76	\$25,520.00		Mobil	Gallon Container size
3	Engine Oil, Diesel, 15W40, Bul	k							Manufacturer and Model
	, , , ,								Please provide Manufacturer
	Supplier	QTY	UOM	Estimated	Unit Price	Extended	<b>Supplier Notes</b>	Manufacturer	and Model bidding.
									MOBIL FLEET 15W40, NOW
									CALLED "MOBIL HDEO (CK-
									4)15W40" (HDEO DESIGNATES
	Sapp Bros. Inc.	250	Gallon		\$8.44	\$2,110.00		Mobil or Shell	"HEAVY DUTY ENGINE OIL")
									Lubrication Engineers 8600
					,				Monolec® Engine Oil 275
	Lubrication Engineers, Inc	250	Gallon		\$12.24	\$3,060.00	1	Mobil or Shell	Gallon Tote
4	Engine Oil, Diesel, 15W40, 55	Gallon D	rum						Manufacturer and Model
	Supplier	QTY	UOM	Estimated	Unit Price	Extended	Supplier Notes	Manufacturer	Please provide Manufacturer and Model bidding.
	Supplier	QII	JUIVI				anthiner mores	ivianuiacturer	and Model bluding.

	Lubrication Engineers, Inc	1000	Gallon		No Bid			Mobil	N/A
									MOBIL DELVAC 1300 SUPER (CK-4) 15W40. SOON TO BE DESIGNATED AS A "SYNTHETIC
	Sapp Bros. Inc.	1000	Gallon		\$11.32	\$11,320.00	1	Mobil	BLEND" OIL
5	Engine Oil, Premium Automot	ive, High	n Mileage, 5V	V20, 55 Gallon	Drum				Manufacturer and Model
				Estimated	Unit Price	Extended			Please provide Manufacturer
	Supplier	QTY	UOM	Estimated	Omerrice	Exterior	Supplier Notes	Manufacturer	and Model bidding.
	Sapp Bros. Inc.	550	Gallon		\$8.84	\$4,862.00		Mobil	MOBIL CLEAN 5W20 DISCONTINUED, REPLACED WITH MOBIL HIGH MILEAGE 5W20, THIS HAS NOT BEEN PURCHASED. ALTERNATIVELY, MOBIL SPECIAL5W20
	Lubrication Engineers, Inc	550	Gallon		\$30.71	\$16,890.50		Mobil	Lubrication Engineers 8521 Monolec® Tetra-Syn™ Engine Oil 55 Gallon Drum
6	Engine Oil, Full Synthetic 5W2	0, Bulk							Manufacturer and Model
6	Engine Oil, Full Synthetic 5W2 Supplier	0, Bulk QTY	UOM	Estimated	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer and Model Please provide Manufacturer and Model bidding.
6			<b>UOM</b> Gallon	Estimated	Unit Price \$12.09	<b>Extended</b> \$14,508.00		<b>Manufacturer</b> Mobil	Please provide Manufacturer
6	Supplier	QTY		Estimated					Please provide Manufacturer and Model bidding. MOBIL SUPER SYNTHETIC 5W20, FULL SYNTHETIC, DEXOS
7	Supplier Sapp Bros. Inc.	QTY 1200 1200	Gallon	Estimated	\$12.09	\$14,508.00		Mobil	Please provide Manufacturer and Model bidding.  MOBIL SUPER SYNTHETIC  5W20, FULL SYNTHETIC, DEXOS  APPROVED  Lubrication Engineers 8521  Monolec® Tetra-Syn™ Engine
	Supplier  Sapp Bros. Inc.  Lubrication Engineers, Inc	QTY 1200 1200	Gallon	Estimated	\$12.09	\$14,508.00		Mobil	Please provide Manufacturer and Model bidding.  MOBIL SUPER SYNTHETIC 5W20, FULL SYNTHETIC, DEXOS APPROVED Lubrication Engineers 8521 Monolec® Tetra-Syn™ Engine Oil 275 gallon tote
	Supplier  Sapp Bros. Inc.  Lubrication Engineers, Inc  Engine Oil, Full Synthetic 5W3	QTY  1200  1200  0, Bulk	Gallon Gallon		\$12.09 \$30.10	\$14,508.00 \$36,120.00	Supplier Notes	Mobil Mobil	Please provide Manufacturer and Model bidding.  MOBIL SUPER SYNTHETIC 5W20, FULL SYNTHETIC, DEXOS APPROVED Lubrication Engineers 8521 Monolec® Tetra-Syn™ Engine Oil 275 gallon tote  Manufacturer and Model Please provide Manufacturer and Model bidding.  MOBIL SUPER SYNTHETIC 530,

8	Engine Oil, 5W30, Bulk								Manufacturer and Model
	Supplier	QTY	UOM	Estimated	Unit Price	Extended	Supplier Notes	Manufacturer	Please provide Manufacturer and Model bidding.
									MOBIL CLEAN 5W30 DISCONTINUED, REPLACED WITH MOBIL HIGH MILEAGE 5W30, THIS HAS NOT BEEN PURCHASED. ALTERNATIVELY,
	Sapp Bros. Inc.	100	Gallon		\$8.84	\$884.00		Mobil	MOBIL SPECIAL5W30
	Lubrication Engineers, Inc	100	Gallon		\$30.10	\$3,010.00		Mobil	Lubrication Engineers 8531 Monolec® Tetra-Syn™ Engine Oil 275 Gallon Tote
	•								
9	Dexos 1, 55-Gallon Drum								Manufacturer and Model
	Supplier	QTY	UOM	Estimated	Unit Price	Extended	Supplier Notes	Manufacturer	Please provide Manufacturer and Model bidding.
	Sapp Bros. Inc.	55	Gallon		\$12.52	\$688.60		Mobil	MOBIL SUPER SYNTHETIC 5W30, FULL SYNTHETIC, DEXOS APPROVED
	зарр вгоз. птс.	<i></i>	Gallon		<b>Ş12.</b> 32	Ç088.00		WIODII	Lubrication Engineers 8531
	Lubrication Engineers, Inc	55	Gallon		\$30.71	\$1,689.05		Mobil	Monolec® Tetra-Syn™ Engine Oil 55 Gallon Container Size
10	Automatic Transmission Fluid,	Premiu	ım, 55 Gallo	n Drum					Manufacturer and Model
	Supplier	QTY	UOM	Estimated	Unit Price	Extended	Supplier Notes	Manufacturer	Please provide Manufacturer and Model bidding.
	Sapp Bros. Inc.	55	Gallon		\$11.55	\$635.25		Mobil	MOBIL ATF DEXRON/MERCON
	Lubrication Engineers, Inc	55	Gallon		\$29.51	\$1,623.05		Mobil	Lubrication Engineers 1150 Monolec® Syn Multi-Vehicle Automatic Transmission Fluid 55 Gallon Drum
11	Automatic Transmission Fluid,	Synthe	tic Bulk						Manufacturer and Model
	Supplier	QTY	UOM	Estimated	Unit Price	Extended	Supplier Notes	Manufacturer	Please provide Manufacturer and Model bidding.
	Sapp Bros. Inc.	800	Gallon		\$17.42	\$13,936.00		Mobil	MOBIL MULTI-VEHICLE ATF

									Monolec® Syn Multi-Vehicle Automatic Transmission Fluid
	Lubrication Engineers, Inc	800	Gallon		\$28.11	\$22,488.00	)	Mobil	275 Gallon Tote
12	Transmission Fluid, Bulk								Manufacturer and Model
				Estimated	Unit Price	Extended			Please provide Manufacturer
	Supplier	QTY	UOM				Supplier Notes	Manufacturer	and Model bidding.
									Lubrication Engineers 1150
									Monolec® Syn Multi-Vehicle
									Automatic Transmission Fluid
	Lubrication Engineers, Inc	300	Gallon		\$28.11	\$8,433.00	)	Delvac	275 Gallon Tote
									MOBIL DELVAC 1 SYNTHETIC
	Sapp Bros. Inc.	300	Gallon		\$32.38	\$9,714.00	)	Delvac	ATF
13	Gear Lubricant, Synthetic, 75	W-90, 55	Gallon Dru	m (400 lb. Drum)					Manufacturer and Model
				Estimated	Unit Price	Extended			Please provide Manufacturer
	Supplier	QTY	UOM	Estimated	Unit Price	Extended	<b>Supplier Notes</b>	Manufacturer	and Model bidding.
									MOBIL DELVAC 1 SYNTHETICE
									GEAR OIL 75W90, PRICE PER
									POUND, DRUMS ARE 375
	Sapp Bros. Inc.	1600	Pound		\$4.41	\$7,056.00	)	Mobil	POUNDS
									Lubrication Engineers 9919
									Monolec® Syn Gear Oil 400 lb
	Lubrication Engineers, Inc	1600	Pound		\$9.60	\$15,360.00	)	Mobil	drum
14	Gear Lubricant, Synthetic, 75	W-140 B	aulk						Manufacturer and Model
	Gear Labricant, Synthetic, 75	11 110, 1	- Carry						Please provide Manufacturer
	Supplier	QTY	UOM	Estimated	Unit Price	Extended	Supplier Notes	Manufacturer	and Model bidding.
	оприне.						опринен полез		PEAK FULL SYNTHETIC GEAR
									OIL 75W140, PRICE PER
									POUND, DRUMS ARE 375
	Sapp Bros. Inc.	1000	Pound		\$5.36	\$5,360.00	)	Mobil	POUNDS
	Supp Stos. Itic.	1000	Tourid		75.50	<b>45,500.00</b>	,	1410011	Lubrication Engineers 9923
									Monolec® Syn Gear Oil 400LB
	Lubrication Engineers, Inc	1000	Pound		\$9.60	\$9,600.00	1	Mobil	drum
	Labrication Lingineers, inc	1000	rounu		00.5¢	φ <b>5,000.0</b> 0	J	IVIUDII	urum
15	Gear Lubricant, Multipurpose	e, 80W-90	0, 55 Gallon	Drum (400 lb. Dr	rum)				Manufacturer and Model

Lubrication Engineers 1150

Sapp Bros. Inc.   400   Pound   \$1.87   \$748.00   Mobil   MOBIL LUBE HD PLUS 80W/90   Lubrication Engineers, Inc   400   Pound   \$5.33   \$2,132.00   Mobil   Mobil   Lubrication Engineers (703   Monolec* Gear Lubricant 400   Ib drum		Supplier	QTY	UOM	Estimated	Unit Price	Extended	Supplier Notes	Manufacturer	Please provide Manufacturer and Model bidding.	
Lubrication Engineers, Inc 400 Pound \$55,33 \$2,132.00 Mobil Ib drum    Conversion   Ib drum   Ib		Sapp Bros. Inc.	400	Pound		\$1.87	\$748.00		Mobil	MOBIL LUBE HD PLUS 80W90	
Lubrication Engineers, Inc. 400 Pound \$5.33 \$2,132.00 Mobil Ib drum    16   Gear Lubricant, Multipurpose, 85W-140, Gallons										Lubrication Engineers 703	
Supplier   QTY   UOM   Estimated   Unit Price   Extended   Supplier Notes   Supplier Notes   Manufacturer and Model bidding.   Lubrication Engineers, Inc   200   Gallons   S14.47   S2,894.00   Mobil   LB Drum   400 lbs= 55 gallons   S14.47   S2,894.00   Mobil   LB Drum   400 lbs= 55 gallons   S14.47   S2,894.00   Mobil   LB Drum   400 lbs= 55 gallons   S14.47   S2,894.00   Mobil   Mobil   LB Drum   400 lbs= 55 gallons   S14.47   S2,894.00   Mobil   Mobil   LB Drum   400 lbs= 55 gallons   S14.47   S2,894.00   Mobil   Mo										Monolec® Gear Lubricant 400	
Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Manufacturer and Model bidding. Librication Engineers, Inc. 200 Gallons \$5.33 \$1,066.00 Mobil LB Drum 400 lbs = 55 gallons Sapp Bros. Inc. 200 Gallons \$5.14.47 \$2,894.00 Mobil LB Drum 400 lbs = 55 gallons Sapp Bros. Inc. 200 Gallons S14.47 \$2,894.00 Mobil MOBIL LUBE HD 85W140 PRICE ABOVE PER C Supplier Notes Manufacturer Lubrication Engineers, Inc. 225 Gallon S13.60 \$3,060.00 MOBIL LUBE HD 8 Mobil Supplier Notes Manufacturer Lubrication Engineers, Inc. 225 Gallon S13.60 \$3,060.00 MOBIL LUBE HD 8 Mobil Supplier Notes Manufacturer Lubrication Engineers, Inc. 225 Gallon S13.60 \$3,060.00 MOBIL LUBE HD 8 Mobil Supplier Notes Manufacturer Mobil Mobil Supplier Notes Mobil Supplier Notes Mobil Supplier Notes Mobil Mobil Supplier Notes Mobil Su		Lubrication Engineers, Inc	400	Pound		\$5.33	\$2,132.00		Mobil	lb drum	
Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Manufacturer and Model bidding. Librication Engineers, Inc. 200 Gallons \$5.33 \$1,066.00 Mobil LB Drum 400 lbs = 55 gallons Sapp Bros. Inc. 200 Gallons \$5.14.47 \$2,894.00 Mobil LB Drum 400 lbs = 55 gallons Sapp Bros. Inc. 200 Gallons S14.47 \$2,894.00 Mobil MOBIL LUBE HD 85W140 PRICE ABOVE PER C Supplier Notes Manufacturer Lubrication Engineers, Inc. 225 Gallon S13.60 \$3,060.00 MOBIL LUBE HD 8 Mobil Supplier Notes Manufacturer Lubrication Engineers, Inc. 225 Gallon S13.60 \$3,060.00 MOBIL LUBE HD 8 Mobil Supplier Notes Manufacturer Lubrication Engineers, Inc. 225 Gallon S13.60 \$3,060.00 MOBIL LUBE HD 8 Mobil Supplier Notes Manufacturer Mobil Mobil Supplier Notes Mobil Supplier Notes Mobil Supplier Notes Mobil Mobil Supplier Notes Mobil Su											
Supplier  QTY UOM Estimated Unit Price Extended Supplier Notes Supplier Notes And Manufacturer  Lubrication Engineers, Inc 200 Gallons \$ \$3.33 \$1,066.00 Mobil LB Drum 400 lbs= 55 gallons Mobil LB Drum 400 lbs= 55 gallons Sapp Bros. Inc. 200 Gallons \$ \$14.47 \$2,894.00 Mobil LB Drum 400 lbs= 55 gallons Mobil Sapp Bros. Inc. 225 Gallon 54.9.1 \$1,104.75 703 Monolec Gea Mobil Mobil Mobil LB Drum 400 lbs= 55 gallons Mobil Sapp Bros. Inc. 225 Gallon 54.9.1 \$1,104.75 703 Monolec Gea Mobil Mo	16	Gear Lubricant, Multipurpose,	, 85W-14	10, Gallons						Manufacturer and Model	Conversion
Supplier QTY UOM  Supplier Notes  Nobil  Lubrication Engineers, Inc Sapp Bros. Inc.  200 Gallons  S5.33  \$1,066.00  Mobil LB Tun Monolec* Gear Lubricant 400 Lubrication Engineers, Inc Mobil  Mobil LUBE HD 85W140  PRICE ABOVE PER C  17 Gear Oil, 80W-90, Bulk  Supplier  Supplier QTY UOM Estimated Unit Price Lubrication Engineers, Inc Supplier QTY UOM Estimated Unit Price Lubrication Engineers, Inc Supplier QTY UOM Estimated Unit Price Lubrication Engineers, Inc Supplier QTY UOM Estimated Unit Price Lubrication Engineers, Inc Supplier QTY UOM Sup		•			Fatimantad	Unit Daise	Endonal of			Please provide Manufacturer	
Lubrication Engineers, Inc. 200 Gallons \$5.33 \$1,066.00 Mobil EB Drum 400 lbs= 55 gallons Sapp Bros. Inc. 200 Gallons \$14.47 \$2,894.00 Mobil EB Drum 400 lbs= 55 gallons MOBIL LUBE HD 85W140 PRICE ABOVE PER C  17 Gear Oil, 80W-90, Bulk Supplier QTY UOM Estimated Unit Price Lubrication Engineers, Inc. 225 Gallon \$4.91 \$1,104.75 703 Monolec Gea Mobil Sapp Bros. Inc. 225 Gallon \$13.60 \$3,060.00 MOBIL LUBE HD 8 Mobil  18 Hydraulic Fluid, Multipurpose Tractor Lubricant, Bulk Supplier QTY UOM Estimated Unit Price Lubrication Engineers, Inc. 2200 Gallon No Bid Mobil Sapp Bros. Inc. 2200 Gallon \$9.42 \$20,724.00 Mobil  19 Hydraulic Fluid, Multipurpose Tractor Lubricant, 55 Gallon Drum Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Manufacturer Lubrication Engineers, Inc 600 Gallon No Bid Mobil Sapp Bros. Inc. 600 Gallon \$9.85 \$5,910.00 Mobil  20 Hydraulic Fluid, Heavy Duty, 10W, Bulk Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Manufacturer and Model Please provide Manufacturer and Model Didding. Sapp Bros. Inc. 500 Gallon \$14.46 \$7,230.00 Mobil Mobil MOBIL HYDRAULIC IOW Lubrication Engineers 6146 Equipower* Ultra Hydraulic Oil Lubrication Engineers, Inc 600 Gallon \$23.83 \$11,915.00 Mobil 275 gallon tote		Supplier	QTY	UOM	Estimated	Unit Price	Extended	<b>Supplier Notes</b>	Manufacturer	and Model bidding.	If billing would be i
Lubrication Engineers, Inc. 200 Gallons \$5.33 \$1,066.00 Mobil LB Drum 400 lbs=55 gallons Sapp Bros. Inc. 200 Gallons \$14.47 \$2,894.00 Mobil MOBIL LUBE HD 85W140 PRICE ABOVE PER C  17 Gear Oil, 80W-90, Bulk  Supplier QTY UOM Estimated Unit Price Strended Supplier Notes Manufacturer Lubrication Engineers, Inc. 225 Gallon \$13.60 \$3,060.00 MOBIL LUBE HD 8 Mobil  18 Hydraulic Fluid, Multipurpose Tractor Lubricant, Bulk  Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Mobil  Sapp Bros. Inc. 2200 Gallon No Bid Mobil  19 Hydraulic Fluid, Multipurpose Tractor Lubricant, 55 Gallon Drum  Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Mobil  19 Hydraulic Fluid, Multipurpose Tractor Lubricant, 55 Gallon Drum  Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Mobil  20 Hydraulic Fluid, Heavy Duty, 10W, Bulk  Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Manufacturer Mobil  Sapp Bros. Inc. 600 Gallon \$9.85 \$5,910.00 Mobil  20 Hydraulic Fluid, Heavy Duty, 10W, Bulk  Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Manufacturer and Model Please provide Manufacturer and Model Didding.  Sapp Bros. Inc. 500 Gallon \$14.46 \$7,230.00 Mobil Unit Price Extended Supplier Notes Manufacturer and Model Didding.  Mobil Mobil Mobil Unit Price Extended Supplier Notes Manufacturer and Model Didding.  Mobil Mobil Unit Price Didding.  Mobil Mobil Mobil Unit Price Didding.  Mo										Lubrication Engineers 704	
Sapp Bros. Inc. 200 Gallons \$14.47 \$2,894.00 Mobil MOBIL LUBE HD 85W140 PRICE ABOVE PER C  17 Gear Oil, 80W-90, Bulk  Supplier QTY UOM Estimated Unit Price Lubrication Engineers, Inc 225 Gallon \$13.60 \$3,060.00 MOBIL LUBE HD 8 Mobil  18 Hydraulic Fluid, Multipurpose Tractor Lubricant, Bulk Supplier QTY UOM Estimated Unit Price Lubrication Engineers, Inc 220 Gallon \$9.42 \$20,724.00 Mobil  19 Hydraulic Fluid, Multipurpose Tractor Lubricant, 55 Gallon Drum Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Manufacturer Lubrication Engineers, Inc 200 Gallon \$9.42 \$20,724.00 Mobil  19 Hydraulic Fluid, Multipurpose Tractor Lubricant, 55 Gallon Drum Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Manufacturer Lubrication Engineers, Inc 600 Gallon No Bid Mobil  20 Hydraulic Fluid, Heavy Duty, 10W, Bulk  Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Manufacturer Mobil Mobil  20 Hydraulic Fluid, Heavy Duty, 10W, Bulk  Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Manufacturer and Model Please provide Manufacturer and Model Unit Price Extended Supplier Notes Manufacturer Mobil Hydraulic Fluid, Heavy Duty, 10W, Bulk Supplier Notes Manufacturer and Model Please provide Manufacturer and Model Ple										Monolec® Gear Lubricant 400	
17   Gear Oil, 80W-90, Bulk   Supplier   QTY   UOM   Estimated   Unit Price   S4.91   \$1,104.75   703 Monolec Gea Mobil   S3,060.00   MOBIL LUBE HD 8 Mobil		Lubrication Engineers, Inc	200	Gallons		\$5.33	\$1,066.00		Mobil	LB Drum	400 lbs= 55 gallons
Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Manufacturer Lubrication Engineers, Inc. 225 Gallon \$4.91 \$3,104.75 703 Monolec Gea Mobil  18   Hydraulic Fluid, Multipurpose Tractor Lubricant, Bulk  Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Mobil  19   Hydraulic Fluid, Multipurpose Tractor Lubricant, Sapp Bros. Inc. 2200 Gallon No Bid Mobil  19   Hydraulic Fluid, Multipurpose Tractor Lubricant, 55 Gallon Drum  Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Mobil  19   Hydraulic Fluid, Multipurpose Tractor Lubricant, 55 Gallon Drum  Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Mobil  Sapp Bros. Inc. 600 Gallon No Bid Mobil  20   Hydraulic Fluid, Heavy Duty, 10W, Bulk  Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Mobil  Sapp Bros. Inc. 500 Gallon \$9.85 \$5,910.00 Mobil  Mobil  Manufacturer and Model Please provide Manufacturer and Model Mobil Mobil Mobil Unit Price Supplier Notes Mobil		Sapp Bros. Inc.	200	Gallons		\$14.47	\$2,894.00		Mobil	MOBIL LUBE HD 85W140	PRICE ABOVE PER C
Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Manufacturer Lubrication Engineers, Inc. 225 Gallon \$4.91 \$3,104.75 703 Monolec Gea Mobil  18   Hydraulic Fluid, Multipurpose Tractor Lubricant, Bulk  Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Mobil  19   Hydraulic Fluid, Multipurpose Tractor Lubricant, Sapp Bros. Inc. 2200 Gallon No Bid Mobil  19   Hydraulic Fluid, Multipurpose Tractor Lubricant, 55 Gallon Drum  Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Mobil  19   Hydraulic Fluid, Multipurpose Tractor Lubricant, 55 Gallon Drum  Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Mobil  Sapp Bros. Inc. 600 Gallon No Bid Mobil  20   Hydraulic Fluid, Heavy Duty, 10W, Bulk  Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Mobil  Sapp Bros. Inc. 500 Gallon \$9.85 \$5,910.00 Mobil  Mobil  Manufacturer and Model Please provide Manufacturer and Model Mobil Mobil Mobil Unit Price Supplier Notes Mobil											
Lubrication Engineers, Inc. 225 Gallon \$4.91 \$1,104.75 703 Monolec Gea Mobil Sapp Bros. Inc. 225 Gallon \$13.60 \$3,060.00 MOBIL LUBE HD 8 Mobil  18 Hydraulic Fluid, Multipurpose Tractor Lubricant, Bulk Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Manufacturer Mobil Sapp Bros. Inc. 2200 Gallon \$9.42 \$20,724.00 Mobil  19 Hydraulic Fluid, Multipurpose Tractor Lubricant, 55 Gallon Drum Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Manufacturer Mobil Sapp Bros. Inc. 600 Gallon No Bid Mobil Sapp Bros. Inc. 600 Gallon \$9.85 \$55,910.00 Mobil  20 Hydraulic Fluid, Heavy Duty, 10W, Bulk Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Manufacturer Mobil Sapp Bros. Inc. 600 Gallon \$9.85 \$55,910.00 Mobil  20 Hydraulic Fluid, Heavy Duty, 10W, Bulk Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Manufacturer and Model Please provide Manufacturer and Model Supplier Notes Manufacturer and Model Supplier Notes Manufacturer and Model Lubrication Engineers 6146 Equipower Ultra Hydraulic Oil Lubrication Engineers, Inc 500 Gallon \$23.83 \$11,915.00 Mobil 275 gallon tote	17	Gear Oil, 80W-90, Bulk								_	
Sapp Bros. Inc.  225 Gallon  \$13.60  \$3,060.00 MOBIL LUBE HD 8 Mobil    18   Hydraulic Fluid, Multipurpose Tractor Lubricant, Bulk   Supplier QTY UOM Estimated Unit Price Lubrication Engineers, Inc. 2200 Gallon   Sp.42   \$20,724.00   Mobil		Supplier	QTY	UOM	Estimated	Unit Price	Extended	Supplier Notes	Manufacturer	_	
18   Hydraulic Fluid, Multipurpose Tractor Lubricant, Bulk Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Manufacturer Lubrication Engineers, Inc 2200 Gallon No Bid Mobil  19   Hydraulic Fluid, Multipurpose Tractor Lubricant, 55 Gallon Drum Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Manufacturer Lubrication Engineers, Inc 600 Gallon No Bid Mobil  20   Hydraulic Fluid, Heavy Duty, 10W, Bulk Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Mobil  20   Hydraulic Fluid, Heavy Duty, 10W, Bulk Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Mobil  20   Hydraulic Fluid, Heavy Duty, 10W, Bulk Lubrication Engineers, Inc 500 Gallon \$14.46 \$7,230.00 Mobil  Extended Supplier Notes Manufacturer and Model Please provide Manufacturer and Model Mobil Mobil Mobil Hydraulic 10W Lubrication Engineers 6146 Equipower™ Ultra Hydraulic Oil 275 gallon tote		Lubrication Engineers, Inc	225	Gallon		\$4.91	\$1,104.75	703 Monolec Gea	a Mobil		
Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Manufacturer Lubrication Engineers, Inc. 2200 Gallon No Bid Mobil Sapp Bros. Inc. 2200 Gallon \$9.42 \$20,724.00 Mobil  19   Hydraulic Fluid, Multipurpose Tractor Lubricant, 55 Gallon Drum Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Manufacturer Lubrication Engineers, Inc 600 Gallon \$9.85 \$5,910.00 Mobil  20   Hydraulic Fluid, Heavy Duty, 10W, Bulk Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Manufacturer Model Please provide Manufacturer and Model Please provide Manufacturer Model Please provide Manufacturer Model Note Supplier Notes Manufacturer Supplier Supplier Supplier Notes Supplier Notes Manufacturer And Model Please provide Manufacturer Model Note Supplier Notes Manufacturer Model Please provide Manufacturer Model Mobil Model bidding.  Lubrication Engineers, Inc 500 Gallon \$14.46 \$7,230.00 Mobil Mobil 275 gallon tote		Sapp Bros. Inc.	225	Gallon		\$13.60	\$3,060.00	MOBIL LUBE HD 8	3 Mobil		
Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Manufacturer Lubrication Engineers, Inc. 2200 Gallon No Bid Mobil Sapp Bros. Inc. 2200 Gallon \$9.42 \$20,724.00 Mobil  19   Hydraulic Fluid, Multipurpose Tractor Lubricant, 55 Gallon Drum Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Manufacturer Lubrication Engineers, Inc 600 Gallon \$9.85 \$5,910.00 Mobil  20   Hydraulic Fluid, Heavy Duty, 10W, Bulk Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Manufacturer Model Please provide Manufacturer and Model Please provide Manufacturer Model Please provide Manufacturer Model Note Supplier Notes Manufacturer Supplier Supplier Supplier Notes Supplier Notes Manufacturer And Model Please provide Manufacturer Model Note Supplier Notes Manufacturer Model Please provide Manufacturer Model Mobil Model bidding.  Lubrication Engineers, Inc 500 Gallon \$14.46 \$7,230.00 Mobil Mobil 275 gallon tote											
Lubrication Engineers, Inc. 2200 Gallon No Bid Mobil Sapp Bros. Inc. 2200 Gallon \$9.42 \$20,724.00 Mobil  19 Hydraulic Fluid, Multipurpose Tractor Lubricant, 55 Gallon Drum Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Manufacturer Lubrication Engineers, Inc. 600 Gallon No Bid Mobil Sapp Bros. Inc. 600 Gallon \$9.85 \$5,910.00 Mobil  20 Hydraulic Fluid, Heavy Duty, 10W, Bulk  Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Manufacturer and Model Please provide Manufacturer and Model Please provide Manufacturer and Model Mobil Hydraulic 10W Lubrication Engineers 6146 Equipower™ Ultra Hydraulic Oil Lubrication Engineers, Inc. 500 Gallon \$23.83 \$11,915.00 Mobil 275 gallon tote	18	Hydraulic Fluid, Multipurpose	Tractor	Lubricant, B	Bulk					_	
Sapp Bros. Inc. 2200 Gallon \$9.42 \$20,724.00 Mobil  19   Hydraulic Fluid, Multipurpose Tractor Lubricant, 55 Gallon Drum  Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Manufacturer Lubrication Engineers, Inc. 600 Gallon \$0.89.85 \$5,910.00 Mobil  20   Hydraulic Fluid, Heavy Duty, 10W, Bulk  Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Manufacturer and Model Please provide Manufacturer and Model Mobil  Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Manufacturer and Model bidding.  Sapp Bros. Inc. 500 Gallon \$14.46 \$7,230.00 Mobil Mobil Lubrication Engineers 6146 Equipower™ Ultra Hydraulic Oil Lubrication Engineers, Inc 500 Gallon \$23.83 \$11,915.00 Mobil 275 gallon tote		Supplier	QTY	UOM	Estimated	Unit Price	Extended	Supplier Notes	Manufacturer	_	
19   Hydraulic Fluid, Multipurpose Tractor Lubricant, 55 Gallon Drum  Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Manufacturer Lubrication Engineers, Inc 600 Gallon \$9.85 \$5,910.00 Mobil  20   Hydraulic Fluid, Heavy Duty, 10W, Bulk  Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Mobil  Estimated Unit Price Extended Supplier Notes Manufacturer and Model Please provide Manufacturer and Model bidding.  Sapp Bros. Inc. 500 Gallon \$14.46 \$7,230.00 Mobil Mobil Unit Price Equipower™ Ultra Hydraulic Oil  Lubrication Engineers, Inc 500 Gallon \$23.83 \$11,915.00 Mobil 275 gallon tote		Lubrication Engineers, Inc	2200	Gallon		No Bid			Mobil		
Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Manufacturer Lubrication Engineers, Inc 600 Gallon No Bid Mobil Sapp Bros. Inc. 600 Gallon \$9.85 \$5,910.00 Mobil     Variable Fluid, Heavy Duty, 10W, Bulk   Manufacturer and Model		Sapp Bros. Inc.	2200	Gallon		\$9.42	\$20,724.00		Mobil		
Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Manufacturer Lubrication Engineers, Inc 600 Gallon No Bid Mobil Sapp Bros. Inc. 600 Gallon \$9.85 \$5,910.00 Mobil     Variable Fluid, Heavy Duty, 10W, Bulk   Manufacturer and Model											
Lubrication Engineers, Inc 600 Gallon No Bid Mobil Sapp Bros. Inc. 600 Gallon \$9.85 \$5,910.00 Mobil  20 Hydraulic Fluid, Heavy Duty, 10W, Bulk  Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Manufacturer and Model bidding.  Sapp Bros. Inc. 500 Gallon \$14.46 \$7,230.00 Mobil MOBIL HYDRAULIC 10W Lubrication Engineers 6146 Equipower™ Ultra Hydraulic Oil Lubrication Engineers, Inc 500 Gallon \$23.83 \$11,915.00 Mobil 275 gallon tote	19	Hydraulic Fluid, Multipurpose	Tractor	Lubricant, 5	5 Gallon Drum					_	
Sapp Bros. Inc. 600 Gallon \$9.85 \$5,910.00 Mobil  20 Hydraulic Fluid, Heavy Duty, 10W, Bulk  Supplier QTY UOM Estimated Unit Price Extended Supplier Notes Manufacturer and Model Mobil Mobil Mobil MOBIL HYDRAULIC 10W Lubrication Engineers, Inc 500 Gallon \$23.83 \$11,915.00 Mobil 275 gallon tote  Manufacturer and Model Manufacturer and Model Manufacturer and Model bidding.  Mobil MOBIL HYDRAULIC 10W Lubrication Engineers 6146 Equipower™ Ultra Hydraulic Oil 275 gallon tote		Supplier	QTY	UOM	Estimated	Unit Price	Extended	Supplier Notes	Manufacturer	_	
Supplier   QTY   UOM   Estimated   Unit Price   Extended   Supplier Notes   Manufacturer and Model   Please provide Manufacturer and Model bidding.		Lubrication Engineers, Inc	600	Gallon		No Bid			Mobil		
Supplier QTY UOM Sapp Bros. Inc. Sapp Bros. Inc. Solution Engineers, Inc Supplier QTY UOM Supplier Notes Supplier Notes Supplier Notes Supplier Notes Manufacturer and Model bidding. Mobil MOBIL HYDRAULIC 10W Lubrication Engineers 6146 Equipower™ Ultra Hydraulic Oil 275 gallon tote		Sapp Bros. Inc.	600	Gallon		\$9.85	\$5,910.00		Mobil		
Supplier QTY UOM Sapp Bros. Inc. Sapp Bros. Inc. Solution Engineers, Inc Supplier QTY UOM Supplier Notes Supplier Notes Supplier Notes Supplier Notes Manufacturer and Model bidding. Mobil MOBIL HYDRAULIC 10W Lubrication Engineers 6146 Equipower™ Ultra Hydraulic Oil 275 gallon tote											
SupplierQTYUOMEstimatedUnit PriceExtendedSupplier NotesManufacturerand Model bidding.Sapp Bros. Inc.500Gallon\$14.46\$7,230.00MobilMOBIL HYDRAULIC 10W Lubrication Engineers 6146 Equipower™ Ultra Hydraulic OilLubrication Engineers, Inc500Gallon\$23.83\$11,915.00Mobil275 gallon tote	20	Hydraulic Fluid, Heavy Duty, 1	.0W, Bul	k						Manufacturer and Model	
Supplier Supplier Notes Manufacturer and Model bidding.  Sapp Bros. Inc. 500 Gallon \$14.46 \$7,230.00 Mobil MOBIL HYDRAULIC 10W  Lubrication Engineers 6146  Equipower™ Ultra Hydraulic Oil  Lubrication Engineers, Inc 500 Gallon \$23.83 \$11,915.00 Mobil 275 gallon tote					Cativestes	Liuit Duine	Futon de d			Please provide Manufacturer	_
Lubrication Engineers 6146 Equipower™ Ultra Hydraulic Oil Lubrication Engineers, Inc 500 Gallon \$23.83 \$11,915.00 Mobil 275 gallon tote		Supplier	QTY	UOM	Estimated	Unit Price	Extended	<b>Supplier Notes</b>	Manufacturer	and Model bidding.	
Equipower™ Ultra Hydraulic Oil Lubrication Engineers, Inc 500 Gallon \$23.83 \$11,915.00 Mobil 275 gallon tote		Sapp Bros. Inc.	500	Gallon		\$14.46	\$7,230.00		Mobil	MOBIL HYDRAULIC 10W	
Lubrication Engineers, Inc 500 Gallon \$23.83 \$11,915.00 Mobil 275 gallon tote										Lubrication Engineers 6146	
										Equipower™ Ultra Hydraulic Oil	
21 Hydraulic Fluid, 10W, 55 Gallon Drum Manufacturer and Model		Lubrication Engineers, Inc	500	Gallon		\$23.83	\$11,915.00		Mobil	275 gallon tote	
21 Hydraulic Fluid, 10W, 55 Gallon Drum Manufacturer and Model											
	21	Hydraulic Fluid, 10W, 55 Gallo	n Drum							Manufacturer and Model	

	Supplier	QTY	UOM	Estimated	Unit Price	Extended	Supplier Notes	Manufacturer	Please provide Manufacturer and Model bidding.
	Sapp Bros. Inc.	220	Gallon		\$14.96	\$3,291.20		Mobil	MOBIL HYDRAULIC 10W
									Lubrication Engineers 6146
									Equipower™ Ultra Hydraulic Oil
	Lubrication Engineers, Inc	220	Gallon		\$24.98	\$5,495.60	1	Mobil	55 gallon drum
22	Hydraulic Fluid, 10W, Bulk								Manufacturer and Model
	, ,								Please provide Manufacturer
	Supplier	QTY	UOM	Estimated	Unit Price	Extended	Supplier Notes	Manufacturer	and Model bidding.
									ALTERNATIVELY MOBIL BRAND
									PRODUCT: MOBIL TRANS HD
	Sapp Bros. Inc.	1000	Gallon		\$15.59	\$15,590.00		Mobil	10W
									Lubrication Engineers 6146
									Equipower™ Ultra Hydraulic Oil
	Lubrication Engineers, Inc	1000	Gallon		\$23.83	\$23,830.00	1	Mobil	275 gallon tote
23	Hydraulic Oil, Bulk								Manufacturer and Model
				Estimated	Unit Price	Extended			Please provide Manufacturer
	Supplier	QTY	UOM	Estimateu	Onit Price	Exteriaea	<b>Supplier Notes</b>	Manufacturer	and Model bidding.
									MOBIL DTE 10 EXCEL 32, THIS
	Sapp Bros. Inc.	200	Gallon		\$16.97	\$3,394.00		Mobil	IS ZINC FREE
									Lubrication Engineers 6532
									Equipower™ Ultra HVI
	Lubrication Engineers, Inc	200	Gallon		\$24.34	\$4,868.00	1	Mobil	Hydraulic Oil 275 gallon tote
24	Hydraulic Oil, Bulk								Manufacturer and Model
				Estimated	Unit Price	Extended			Please provide Manufacturer
	Supplier	QTY	UOM	Estimated	Office	Exterioca	Supplier Notes	Manufacturer	and Model bidding.
									MOBIL DTE 10 EXCEL 22, THIS
	Sapp Bros. Inc.	200	Gallon		\$17.05	\$3,410.00		Mobil	IS ZINC FREE
									Lubrication Engineers 6522
									Equipower™ Ultra HVI
	Lubrication Engineers, Inc	200	Gallon		\$24.34	\$4,868.00	1	Mobil	Hydraulic Oil 275 gallon tote
25	Hydraulic Oil, Bulk								Manufacturer and Model
				Estimated	Unit Price	Extended			Please provide Manufacturer
	Supplier	QTY	UOM	Latimateu	Jille Frice		<b>Supplier Notes</b>	Manufacturer	and Model bidding.
	Sapp Bros. Inc.	110	Gallon		\$12.05	\$1,325.50		Mobil	MOBIL DTE 26

	Lubrication Engineers, Inc	110	Gallon		\$17.66	\$1,942.60	)	Mobil	Equipower™ Hydraulic Oil 275 gallon tote
26	Premium Hydraulic Oil, Bulk								Manufacturer and Model
	Supplier	QTY	UOM	Estimated	Unit Price	Extended	Supplier Notes	Manufacturer	Please provide Manufacturer and Model bidding.
	Sapp Bros. Inc.	500	Gallon		\$16.28	\$8,140.00	)	Mobil	MOBIL DTE 10 EXCEL 46, THIS IS ZINC FREE
	Lubrication Engineers, Inc	500	Gallon		\$24.34	\$12,170.00	)	Mobil	Lubrication Engineers 6546 Equipower™ Ultra HVI Hydraulic Oil 275 gallon tote
27	Aviation Hydraulic Fluid								Manufacturer and Model
	Supplier Lubrication Engineers, Inc Sapp Bros. Inc.	<b>QTY</b> 250 250	<b>UOM</b> Gallon Gallon	Estimated	Unit Price No Bid \$45.00	<b>Extended</b> \$11,250.00	Supplier Notes	Manufacturer Mobil Mobil	Please provide Manufacturer and Model bidding. Lubrication Engineers MOBIL AERO HFA
					φ 10.00	Ψ == /= 3 0 · 0 0			
28	Transmission and Drive Train	Oil, 30W	/, Bulk						Manufacturer and Model
	Supplier	QTY	UOM	Estimated	Unit Price	Extended	Supplier Notes	Manufacturer	Please provide Manufacturer and Model bidding.
	Supplier Sapp Bros. Inc.	<b>QTY</b> 500	<b>UOM</b> Gallon	Estimated	Unit Price \$13.57	<b>Extended</b> \$6,785.00	• • •	<b>Manufacturer</b> Mobil	•
				Estimated			)		and Model bidding.
29	Sapp Bros. Inc.	500	Gallon		\$13.57	\$6,785.00	)	Mobil	and Model bidding.  MOBIL TRANS HD 30W  Lubrication Engineers 7531  Monolec® Drive Train Fluid
29	Sapp Bros. Inc.  Lubrication Engineers, Inc	500	Gallon		\$13.57	\$6,785.00	)	Mobil	and Model bidding.  MOBIL TRANS HD 30W  Lubrication Engineers 7531  Monolec® Drive Train Fluid  275 gallon tote
29	Sapp Bros. Inc.  Lubrication Engineers, Inc  Transmission and Drive Train	500 500 Oil, 30W	Gallon Gallon  J, 55 Gallon	Drum	\$13.57 \$27.95	\$6,785.00 \$13,975.00	Supplier Notes	Mobil Mobil	and Model bidding.  MOBIL TRANS HD 30W  Lubrication Engineers 7531  Monolec® Drive Train Fluid  275 gallon tote  Manufacturer and Model  Please provide Manufacturer
29	Sapp Bros. Inc.  Lubrication Engineers, Inc  Transmission and Drive Train  Supplier	500 500 Oil, 30W	Gallon Gallon  7, 55 Gallon  UOM	Drum	\$13.57 \$27.95 <b>Unit Price</b>	\$6,785.00 \$13,975.00 <b>Extended</b>	Supplier Notes	Mobil  Mobil  Manufacturer	and Model bidding.  MOBIL TRANS HD 30W  Lubrication Engineers 7531  Monolec® Drive Train Fluid  275 gallon tote  Manufacturer and Model  Please provide Manufacturer and Model bidding.
	Sapp Bros. Inc.  Lubrication Engineers, Inc  Transmission and Drive Train  Supplier Sapp Bros. Inc.	500 500 Oil, 30W QTY 220	Gallon  Gallon  J, 55 Gallon  UOM  Gallon  Gallon	Drum	\$13.57 \$27.95 <b>Unit Price</b> \$14.00	\$6,785.00 \$13,975.00 <b>Extended</b> \$3,080.00	Supplier Notes	Mobil  Manufacturer  Mobil	and Model bidding.  MOBIL TRANS HD 30W Lubrication Engineers 7531 Monolec® Drive Train Fluid 275 gallon tote  Manufacturer and Model Please provide Manufacturer and Model bidding.  MOBIL TRANS HD 30W Lubrication Engineers 7531 Monolec® Drive Train Fluid 55 Gallon Drum  Manufacturer and Model
	Sapp Bros. Inc.  Lubrication Engineers, Inc  Transmission and Drive Train  Supplier  Sapp Bros. Inc.  Lubrication Engineers, Inc	500 500 Oil, 30W QTY 220	Gallon  Gallon  J, 55 Gallon  UOM  Gallon  Gallon	Drum	\$13.57 \$27.95 <b>Unit Price</b> \$14.00	\$6,785.00 \$13,975.00 <b>Extended</b> \$3,080.00	Supplier Notes  Supplier Notes	Mobil  Manufacturer  Mobil	and Model bidding.  MOBIL TRANS HD 30W  Lubrication Engineers 7531  Monolec® Drive Train Fluid  275 gallon tote  Manufacturer and Model  Please provide Manufacturer and Model bidding.  MOBIL TRANS HD 30W  Lubrication Engineers 7531  Monolec® Drive Train Fluid 55  Gallon Drum

Lubrication Engineers 4934

									Monolec® Drive Train Fluid
	Lubrication Engineers Inc	100	Callon		¢27.0F	¢2.70F.00		Mahil	
	Lubrication Engineers, Inc	100	Gallon		\$27.95	\$2,795.00		Mobil	275 gallon tote
31	Grease, Multipurpose, #2								Manufacturer and Model
	, , ,								Please provide Manufacturer
	Supplier	QTY	UOM	Estimated	Unit Price	Extended	<b>Supplier Notes</b>	Manufacturer	and Model bidding.
									PRICE PER TUBE. MOBIL
									GREASE XHP 222 - SPECIAL
									(MULTIPURPOSE LITHIUM
									COMPLEX GREASE WITH 0.75%
	Sapp Bros. Inc.	1200	Tube		\$3.12	\$3,744.00		Mobil	MOLY)
									Lubrication Engineers 1275
									Almaplex® Industrial Lubricant
	Lubrication Engineers, Inc	1200	Tube		\$8.04	\$9,648.00	1	Mobil	Case Qty - 40 Tubes/Case
32	Grease, Multipurpose, #2								Manufacturer and Model
				Estimated	Unit Price	Extended		_	Please provide Manufacturer
	Supplier	QTY	UOM				Supplier Notes	Manufacturer	and Model bidding.
									Lubrication Engineers 1275
			_		4	4			Almaplex® Industrial Lubricant
	Lubrication Engineers, Inc	2	Drum		\$6.87	\$13.74	•	Mobil	400LB Drum
									PRICE IS PER DRUM, DRUM IS
									396 POUNDS. BILLING WILL BE
									PER POUND. MOBIL GREASE
									XHP 222 - SPECIAL
									(MULTIPURPOSE LITHIUM
									COMPLEX GREASE WITH 0.75%
		2	D		¢4 400 7C	Ć2 040 F2		N A = I= : I	
	Sapp Bros. Inc.	2	Drum		\$1,409.76	\$2,819.52		Mobil	MOLY)
33			Drum		\$1,409.76	\$2,819.52		Mobil	,
33	Sapp Bros. Inc.  Bar & Chain Oil (55 gal. drum)		Drum					Mobil	Manufacturer and Model Please provide Manufacturer
33			Drum UOM	Estimated	\$1,409.76 Unit Price	\$2,819.52 Extended	Supplier Notes	Mobil  Manufacturer	Manufacturer and Model
33	Bar & Chain Oil (55 gal. drum)			Estimated					Manufacturer and Model Please provide Manufacturer
33	Bar & Chain Oil (55 gal. drum)			Estimated			Supplier Notes		Manufacturer and Model Please provide Manufacturer and Model bidding.
33	Bar & Chain Oil (55 gal. drum) Supplier	QTY	UOM	Estimated	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer and Model Please provide Manufacturer and Model bidding. CHAIN GUARD BAR & CHAIN
33	Bar & Chain Oil (55 gal. drum) Supplier	QTY	UOM	Estimated	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer and Model Please provide Manufacturer and Model bidding. CHAIN GUARD BAR & CHAIN OIL (MOBIL DOES NOT MAKE)
33	Bar & Chain Oil (55 gal. drum) Supplier	QTY	UOM	Estimated	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer and Model Please provide Manufacturer and Model bidding. CHAIN GUARD BAR & CHAIN OIL (MOBIL DOES NOT MAKE) Lubrication Engineers 4934

Lubrication Engineers 7551

34	Bar & Chain Oil								_
	Supplier	QTY	UOM	Estimated	<b>Unit Price</b>	Extended	Supplier Notes	Manufacturer	_
	Lubrication Engineers, Inc	20	Case		No Bid			Stihl Premium	
	Sapp Bros. Inc.	20	Case		No Bid			Stihl Premium	
35	Cat TDTO, 30W, Bulk								Manufacturer and Model
				Estimated	Unit Price	Extended			Please provide manufacturer
	Supplier	QTY	UOM	Littillateu	Omt Frice	LAteriaea	Supplier Notes	Manufacturer	and model bidding.
									ALTERNATIVELY - MOBIL
									BRAND: MOBIL TRANS HD
	Sapp Bros. Inc.	500	Gallon		\$13.57	\$6,785.00	)	Cat or Equivaler	n 30W
									Lubrication Engineers 7551
									Monolec® Drive Train Fluid
	Lubrication Engineers, Inc	500	Gallon		\$27.95	\$13,975.00	)	Cat or Equivaler	ո 275 gallon tote
36	Cat TDTO, 50W, Bulk								Manufacturer and Model
				Estimated	Unit Price	Extended			Please provide manufacturer
	Supplier	QTY	UOM	Estimateu	Offic Price	Extended	<b>Supplier Notes</b>	Manufacturer	and model bidding.
									ALTERNATIVELY - MOBIL
									BRAND: MOBIL TRANS HD
	Sapp Bros. Inc.	500	Gallon		\$16.78	\$8,390.00	)	Cat or Equivaler	n 50W
									Lubrication Engineers 7531
									Monolec® Drive Train Fluid 55
	Lubrication Engineers, Inc	500	Gallon		\$1,585.29	\$792,645.00	)	Cat or Equivaler	n gallon Container Size
37	Cat GO, 80W-90, Bulk								Manufacturer and Model
				Estimated	Unit Price	Extended			Please provide manufacturer
	Supplier	QTY	UOM	LStilliateu	Offic Price	LXteriueu	Supplier Notes	Manufacturer	and model bidding.
									ALTERNATIVELY - MOBIL
									BRAND: MOBIL LUBE HD PLUS
									80W90. PRICE IS PER GALLON,
									1 GALLON = 7.273 POUNDS.
	Sapp Bros. Inc.	100	Gallon		\$13.60	\$1,360.00	)	Cat or Equivaler	n BILLING WILL BE IN POUNDS
									Lubrication Engineers 703
									Monolec® Gear Lubricant 55
	Lubrication Engineers, Inc	100	Gallon		\$2,132.98	\$213,298.00	)	Cat or Equivaler	n Gallon Container Size

	Supplier	QTY	UOM	Estimated	<b>Unit Price</b>	Extended	<b>Supplier Notes</b>	Manufacturer	
	Lubrication Engineers, Inc	20	Case		No Bid			Stihl	
	Sapp Bros. Inc.	20	Case		No Bid			Stihl	_
39	Semi Synthetic 5W-20, Bulk								Manufacturer and Model
	Supplier	QTY	иом	Estimated	Unit Price	Extended	Supplier Notes	Manufacturer	Please provide Manufacturer and Model bidding.
	Sapp Bros. Inc.	1000	Gallon		\$8.84	\$8,840.00	)		MOBIL SPECIAL 5W20, PRODUCT IS A SYNTHETIC BLEND
	Lubrication Engineers, Inc	1000	Gallon		\$30.71	\$30,710.00	)		Lubrication Engineers 8521 Monolec® Tetra-Syn™ Engine Oil 55 Gallon Drum Container Size
40	Full Synthetic OW-20, Bulk								Manufacturer and Model
	Supplier	QTY	UOM	Estimated	Unit Price	Extended	Supplier Notes	Manufacturer	Please provide Manufacturer and Model bidding.
	Lubrication Engineers, Inc	100	Gallon		No Bid				Lubrication Engineers
									MOBIL SUPER SYNTHETIC OW20. FULL SYNTHETIC, DEXOS APPROVED. PRICE PER GALLON IN A 6 GALLON BAG IN
						4			
	Sapp Bros. Inc.	100	Gallon		\$15.92	\$1,592.00	)		A BOX CONTAINER
41	Sapp Bros. Inc.  Multi-Purpose Grease (Lithiun		Gallon		\$15.92	\$1,592.00			A BOX CONTAINER  Manufacturer and Model

					ALTERNATIVELY	
					PER ITEM NO.26:	
					MOBIL GREASE	
					XHP 222 -	
					SPECIAL.	
					MULTIPURPOSE	MOBIL GREASE XHP 222. A
					LITHIUM	MULTI-PURPOSE LITHIUM
					COMPLEX	COMPLEX GREASE. PRICE PER
					GREASE	POUND, DRUM IS 396 POUNDS
					CONTAINING	*NOTE: THIS DOES NOT
Sapp Bros. Inc.	400	Pound	\$3.12	\$1,248.00	0.75% MOLY	CONTAIN MOLY
						Lubrication Engineers 1232
						Almatek® General Purpose
Lubrication Engineers, Inc	400	Pound	\$5.23	\$2,092.00	)	Lubricant 400 LB Drum



# 19-190 Sapp Bros. Inc. Supplier Response

# **Event Information**

Number: 19-190

Title: Annual Supply of Lubricants

Type: Notice to Bidders

Issue Date: 7/19/2019

Deadline: 8/2/2019 12:00 PM (CT)

# **Contact Information**

Contact: Sharon R. Mulder Assistant Purchasing Agent

Address: Purchasing

440 S. 8th St. Purchasing Suite 200

Lincoln, NE 68508

Phone: (402) 441-7428 Fax: (402) 441-6513

Email: smulder@lincoln.ne.gov

•	Sapp B	oros. Inc. information	
1		Gary L. Pence 5901 Cornhusker Hwy Lincoln, NE 68507 (402) 466-5522 (402) 466-5529 gpence@sappbros.net	
D.,			to remove and bind recompany
ву	submitting	g your response, you certify that you are authorized	to represent and bind your company.
	att Pence		npence@sappbros.net
_	gnature Ibmitted at	t 8/2/2019 10:52:38 AM	<sup>E</sup> mail
Ou	ionnitoa at	10/2/2013 10:02:30 AW	
Bi	id Attrik	butes	
1	Instruct	tions to Bidders	
•		wledge reading and understanding the Instructions to	o Bidders.
	Yes		
2	Incuren	and Description and Endovernments	
2		nce Requirements and Endorsements	ked box on the Insurance Clause document in the Bid
		nents including the submission of the Certificate of A	
	Insuranc	ce Certificate and required Endorsements are requir	ed at time of contract execution by the vendor.
		rs are strongly encouraged to send the insurant surance agent prior to bid close in order to ex	ce requirements and endorsement information to pedite the contract execution process.
3	Sample	e Contract	
	•	wledge reading and understanding the sample contra	act.
	Yes		
4	Specific	cations	
	I acknow	wledge reading and understanding the specifications	
	Yes		
5	Term C	Clause of Contract	
			ear term with the option for three (3) additional one (1)
		newals from the date of the executed contract. your bid prices firm for the first one (1) year contract	period. YES or NO
	(b) Are y	your bid prices subject to escallation/de-escalation Y	ES or NO
	<u>``</u>	, state period for which prices will remain firm: throu	gh
	a) No b)	y) Yes c) 30 days	

6	Special Provision Term Contract Provisions I acknowledge reading and understanding the Special Provision Term Contract Provisions.  Yes
7	Quantities I acknowledge that the quantities listed for each line item are an estimated yearly amount. The City does not guarantee any dollar amount or order quantities for the term of the contract.  Y
8	Contact Name of person submitting this bid: Matt Pence
9	Delivery State number of delivery days ARO. FOB to the City/County at the location specified with all transportation charges paid.  1 Day
10	Bid Documents I acknowledge and accept that it is my responsibility as a Bidder to promptly notify the Purchasing Department Staff prior to the close of the bid of any ambiguity, inconsistency or error which I may discover upon examination of the bid documents including, but not limited to the Specifications.  Yes
1	Government/Corporate Purchase Card  Will your company accept payment by a Visa/Purchase Card? Yes/No  1) If yes, will your company charge a fee for accepting a Visa/Purchase Card? Yes/No  2) If yes, do you require payment upon receipt of order? Yes/No  3) If yes, will you accept payment after delivery and acceptance of product/equipment/service? Yes/No
1 2	Bid award  I acknowledge and understand that the City, County and/or Public Building Commission reserves the right to award bids item-by-item, with or without alternates/options, by groups, or "lump sum" such as shall best serve the requirements and interests of the City, County and/or Public Building Commission.  If your pricing is based on an all-or-nothing basis, please indicate so in the Supplier Notes section of your E-Bid response.  Yes
1 3	Tax Exempt Certification Forms  Materials being purchased in this bid are tax exempt and unit prices are reflected as such. A Purchasing Agent Appointment form and a Exempt Sales Certificate form shall be issued with contract documents. (Note: State Tax Law does not provide for sales tax exemption for proprietary functions for government, thereby excluding the purchases of pipes to be installed in water lines and purchase of water meters.)  Yes

## 1 U.S. Citizenship Attestation

### Is your company legally considered an Individual or Sole Proprietor: YES or NO

As a Vendor who is legally considered an Individual or a Sole Proprietor I hereby understand and agree to comply with the requirements of the United States Citizenship Attestation Form, available at: http://www.sos.ne.gov/business/notary/citizenforminfo.html

All awarded Vendors who are legally considered an Individual or a Sole Proprietor must complete the form and submit it with contract documents at time of execution.

If a Vendor indicates on such attestation form that he or she is a qualified alien, the Vendor agrees to provide the US Citizenship and Immigration Services documentation required to verify the Vendor's lawful presence in the United States using the Systematic Alien Verification for Entitlements (SAVE) Program.

Vendor further understands and agrees that lawful presence in the United States is required and the Vendor may be disqualified or the Contract terminated if such lawful presence cannot be verified as required by Neb. Rev. Stat. 4-108.

`\/	
Y	$\boldsymbol{\rho}$
	-

1

# **Electronic Signature**

Please check here for your electronic signature.

Yes

### **Bid Lines**

\_ \_

1	Engine Oil, Dies	Engine Oil, Diesel, Premium Heavy-Duty 15W-40, Bulk								
	Quantity: 3950	UOM: Gallon	Unit Price:	\$10.89	Total:	\$43,015.50				
Manufacturer: Mobil or Shell										
	Manufacturer #:	Delvac 1300 Super or Rotella								
Item Attributes										
	1. Manufacture	r and Model								
	Please provide Manufacturer and Model bidding.									
	MOBIL DELV	AC 1300 SUPER (CK-4) 15W40.	SOON TO BE DESIG	NATED AS A "S	YNTHETIC BL	.END" OIL				

2	Engine	Oil, Dies	el, Premil	um Heavy-D	outy 1500-40	), 55 Gallo	n Drum

 Quantity: 2000
 UOM: Gallon
 Unit Price: \$8.87
 Total: \$17,740.00

Manufacturer: Mobil

Manufacturer #: Fleet 15W40,

### **Item Attributes**

### 1. Manufacturer and Model

Please provide Manufacturer and Model bidding.

MOBIL FLEET 15W40, NOW CALLED "MOBIL HDEO (CK-4)15W40" (HDEO DESIGNATES "HEAVY DUTY ENGINE OIL")

3	Engine Oil, Dies	el, 15W40, Bulk				
	Quantity: 250	UOM: Gallon	Unit Price:	\$8.44	Total:	\$2,110.00
	Manufacturer:	Mobil or Shell				
	Manufacturer #:	Mobil Fleet 15W-40				
	Item Attributes	6				
	1. Manufacture	r and Model				
		e Manufacturer and Mod				
	MOBIL FLEET ENGINE OIL")		"MOBIL HDEO (CK-4)15W40"	(HDEO DESIG	NATES "F	IEAVY DUTY
4	Engine Oil, Dies	el, 15W40, 55 Gallon Dr	rum			
	Quantity: <u>1000</u>	UOM: Gallon	Unit Price:	\$11.32	Total:	\$11,320.00
	Manufacturer:	Mobil				
	Manufacturer #:	15W40 DEO-ULS				
	Item Notes:	No Cubatitutions				
	Maria Addalla da	No Substitutions.				
	Item Attributes					
	1. Manufacture		al hidding			
		e Manufacturer and Mod	ei bidding. 15W40. SOON TO BE DESIGN	ΔΤΕΌ ΔΟ Δ "Ο	/NTHETIC	RI END" OII
	WOBIE BEEV	TO 1000 GOT ETT (GIT 4)	TOWARD. COOK TO BE BEGICIA.	THE THE THE		S BLEIND GIE
5			lileage, 5W20, 55 Gallon Drur		_	
	· —	UOM: Gallon	Unit Price:	\$8.84	Total:	\$4,862.00
	Manufacturer:	Mobil				
	Manufacturer #:	Mobil Clean 5W20				
	Item Attributes	5				
	1. Manufacture					
		e Manufacturer and Mod				
		N 5W20 DISCONTINUED L ALTERNATIVELY, MOB	, REPLACED WITH MOBIL HIG IL SPECIAL5W20	H MILEAGE 5V	V20, THIS	HAS NOT BEEN
6	Engine Oil, Full S	Synthetic 5W20, Bulk				
	Quantity: <u>1200</u>	UOM: Gallon	Unit Price:	\$12.09	Total:	\$14,508.00
	Manufacturer:	Mobil				
	Manufacturer #:	5W20				
	Item Attributes	5				
	1. Manufacture	r and Model				
	Please provide	e Manufacturer and Mod	el bidding.			
	MOBIL SUPE	R SYNTHETIC 5W20, FU	LL SYNTHETIC, DEXOS APPR	OVED		

7	Engine Oil, Full	Synthetic 5W30, Bulk				
	Quantity: <u>650</u>	UOM: Gallon	Unit Price:	\$12.09	Total:	\$7,858.50
	Manufacturer:	Mobil				
	Manufacturer #:	Synthetic 5W30				
	Item Attributes	5				
	1. Manufacture	r and Model				
	· ·	e Manufacturer and Mode				
	MOBIL SUPE	R SYNTHETIC 530, FULL	SYNTHETIC, DEXOS APPRO	OVED		
8	Engine Oil, 5W3	0, Bulk				
	Quantity: 100	UOM: Gallon	Unit Price:	\$8.84	Total:	\$884.00
	Manufacturer:	Mobil				
	Manufacturer #:	Mobil Clean 5W30				
	Item Attributes	<b>S</b>				
	1. Manufacture	r and Model				
	· .	e Manufacturer and Mode				
		N 5W30 DISCONTINUED, . ALTERNATIVELY, MOBI	REPLACED WITH MOBIL HIG IL SPECIAL5W30	GH MILEAGE 5V	V30, THIS	HAS NOT BEEN
•						
9	Dexos 1, 55-Gal			<b>*</b> 40 <b>=</b> 0		<b>****</b>
	Quantity: 55		Unit Price:	\$12.52	Total:	\$688.60
	Manufacturer: Manufacturer #:	Mobil 1.5W 30				
	Item Attributes  1. Manufacture					
		e Manufacturer and Mode	el biddina.			
	<u> </u>		LL SYNTHETIC, DEXOS APPF	ROVED		
1	Automatic Trans	mission Fluid, Premium	55 Gallon Drum			
Ó		UOM: Gallon	Unit Price:	\$11.55	Total:	\$635.25
	Manufacturer:	Mobil	Office field.	Ψ11.00	Total.	φσσσ.2σ
	Manufacturer #:	Mobil ATF DM				
	Item Attributes					
	1. Manufacture					
		e Manufacturer and Mode	el bidding.			
	MOBIL ATF D	EXRON/MERCON				
1	Automatic Trans	mission Fluid, Synthetic	Bulk			
1	Quantity: 800	UOM: Gallon	Unit Price:	\$17.42	Total:	\$13,936.00
	Manufacturer:	Mobil		·		. ,
	   Manufacturer #:	Mobil Multi-Vehicle				

	Item Attributes								
	1. Manufacturer and Model								
	Please provide Manufacturer and Model bidding.								
	MOBIL MULTI	I-VEHICLE ATF							
1	Transmission Flu	uid Bulk							
Transmission Fluid, Bulk Quantity: 300 UOM: Gallon Unit Price: \$32.38 Total:									
	, <u> </u>		Unit Price: [	<b>Φ32.30</b>	rotal: [	\$9,714.00			
	Manufacturer: Delvac								
	Manufacturer #:	1 ATF							
	Item Attributes	<b>S</b>							
	1. Manufacture								
		e Manufacturer and M							
	MOBIL DELVA	AC 1 SYNTHETIC ATF							
1	Gear Lubricant,	Synthetic, 75W-90, 5	5 Gallon Drum (400 lb. Drum)						
3	Quantity: 1600	UOM: Pound	Unit Price:	\$4.41	Total:	\$7,056.00			
	Manufacturer:	Mobil							
	Manufacturer #:	Mobil Delvac Synthe	etic Gear Oil 75W-90						
	Item Attributes	<u> </u>							
	1. Manufacture								
		e Manufacturer and M	lodel biddina.						
	· ·		EAR OIL 75W90, PRICE PER PC	DUND, DRUMS A	RE 375 PO	UNDS			
		0 11 11 75144 440	D. II						
<b>1</b>	·	Synthetic, 75W-140,							
	Quantity: <u>1000</u>		Unit Price:	\$5.36	Total:	\$5,360.00			
	Manufacturer:	Mobil							
	Manufacturer #:	Peak Full Synthetic							
	Item Attributes	5							
	1. Manufacture	r and Model							
		e Manufacturer and M							
	PEAK FULL S	SYNTHETIC GEAR OIL	75W140, PRICE PER POUND,	DRUMS ARE 37	5 POUNDS	<b>S</b>			
1	Gear Lubricant,	Multipurpose, 80W-9	0, 55 Gallon Drum (400 lb. Dru	m)					
5	Quantity: 400	UOM: Pound	Unit Price:	\$1.87	Total:	\$748.00			
	Manufacturer:	Mobil		·		·			
	Manufacturer #:	SAE 80W-90							
	Item Attributes								
	1. Manufacture								
		e Manufacturer and M	lodel bidding						
		HD PLUS 80W90							
	55.2 2052								

_	1 Gear Lubricant, Multipurpose, 85W-140, Gallons					
1	·	• • •		*		
	, <u>——</u>	UOM: Gallons	Unit Price:	\$14.47	Total:	\$2,894.00
	Manufacturer:	Mobil				
	Manufacturer #:	HD Plus				
	Item Attributes	S				
	1. Manufacture	er and Model				
	· ·	e Manufacturer and Model	bidding.			
	MOBIL LUBE	HD 85W140				
	2. Conversion					
			vide number of pounds per g			
	PRICE ABOVI	E PER GALLON. 1 GALLO	N = 7.273 POUNDS. BILLING	5 WILL BE IN P	OUNDS	
1	Gear Oil, 80W-9	0, Bulk				
1	Quantity: 225	UOM: Gallon	Unit Price:	\$13.60	Total:	\$3,060.00
	Manufacturer:	Mobil				
	Manufacturer #:	HD Plus/ SAE				
	Supplier Notes:		PRICE ABOVE IS PER GAL	LON, 1 GALLC	N = 7.273	POUNDS. BILLING
		WILL BE IN POUNDS				
1	Hydraulic Fluid, I	Multipurpose Tractor Lubri	icant, Bulk			
0	Quantity: <u>2200</u>	UOM: Gallon	Unit Price:	\$9.42	Total:	\$20,724.00
	Manufacturer:	Mobil				
	Manufacturer #:	Mobilfluid 424				
	Item Notes:	No Cubatitutions				
		No Substitutions.				
1	Hydraulic Fluid, I	Multipurpose Tractor Lubri	icant, 55 Gallon Drum			
•	Quantity: <u>600</u>	UOM: Gallon	Unit Price:	\$9.85	Total:	\$5,910.00
	Manufacturer:	Mobil				
	Manufacturer #:	Mobilfluid 424				
	Item Notes:	No Substitutions.				
2	Hydraulic Fluid, I 	Heavy Duty, 10W, Bulk				
•	Quantity: <u>500</u>	UOM: Gallon	Unit Price:	\$14.46	Total:	\$7,230.00
	Manufacturer:	Mobil				
	Manufacturer #:	10W				
	Item Attributes	5				
	1. Manufacture	er and Model				
		e Manufacturer and Model	bidding.			
	MOBIL HYDR	AULIC 10W				

2	Hydraulic Fluid,	10W, 55 Gallon Drum				
1	Quantity: 220	UOM: Gallon	Unit Price:	\$14.96	Total:	\$3,291.20
	Manufacturer:	Mobil				
	Manufacturer #:	SAE10				
	Item Attributes	<b>3</b>				
	1. Manufacture	r and Model				
	Please provide	e Manufacturer and Model	bidding.			
	MOBIL HYDRA	AULIC 10W				
2 2	Hydraulic Fluid, 1	10W, Bulk				
2	Quantity: <u>1000</u>	UOM: Gallon	Unit Price:	\$15.59	Total:	\$15,590.00
	Manufacturer:	Mobil				
	Manufacturer #:	Hydo Advanced				
	Item Attributes	<b>S</b>				
	1. Manufacture	r and Model				
	Please provide	e Manufacturer and Model	bidding.			
	ALTERNATIVE	ELY MOBIL BRAND PROD	UCT: MOBIL TRANS HD 10W			
2	Hydraulic Oil, Bu	lk				
3	Quantity: 200	UOM: Gallon	Unit Price:	\$16.97	Total:	\$3,394.00
	Manufacturer:	Mobil				
	Manufacturer #:	DTE 10/32				
	Item Attributes	<b>3</b>				
	1. Manufacture	r and Model				
		e Manufacturer and Model				
	MOBIL DTE 1	0 EXCEL 32, THIS IS ZINC	FREE			
2 4	Hydraulic Oil, Bu	lk				
4	Quantity: 200	UOM: Gallon	Unit Price:	\$17.05	Total:	\$3,410.00
	Manufacturer:	Mobil				
	Manufacturer #:	DTE 10/22				
	Item Attributes	<b>3</b>				
	1. Manufacture	r and Model				
		e Manufacturer and Model				
	MOBIL DTE 1	0 EXCEL 22, THIS IS ZINC	FREE			
2 5	Hydraulic Oil, Bu	lk				
J	Quantity: 110	UOM: Gallon	Unit Price:	\$12.05	Total:	\$1,325.50
	Manufacturer:	Mobil				
	Manufacturer #:	DTE 26				

	Item Attributes							
	1. Manufacture	er and Model						
	Please provide Manufacturer and Model bidding.							
	MOBIL DTE 2	26						
2	Premium Hydra	ulic Oil, Bulk						
6	Quantity: 500	UOM: Gallon	Unit Price:	\$16.28 Total:	\$8,140.00			
	Manufacturer:	Mobil						
	Manufacturer #:	DTE10/Excel-46						
	Item Attribute	s						
	1. Manufacture	er and Model						
	Please provid	e Manufacturer and Mo	del bidding.					
	MOBIL DTE 1	10 EXCEL 46, THIS IS Z	NC FREE					
2 7	Aviation Hydraul	lic Fluid						
7	Quantity: 250		Unit Price:	\$45.00 Total:	\$11,250.00			
	· — -	Mobil		, , , , , , , , , , , , , , , , , , ,	, ,			
	Item Attribute	s						
	1. Manufacture							
		le Manufacturer and Mo	del bidding.					
	MOBIL AERO	) HFA	<del>-</del>					
2	Transmission ar	nd Drive Train Oil, 30W	/ Rulk					
<b>2</b> 8	Quantity: 500	UOM: Gallon	Unit Price:	\$13.57 Total:	\$6,785.00			
	Manufacturer:	Mobil	Office fice.	Ψ10.07   Total.	ψ0,700.00			
	Manufacturer #:							
	Item Attribute							
	1. Manufacture							
		le Manufacturer and Mo	del bidding.					
	MOBIL TRAN	IS HD 30W	<del>-</del>					
2	Transmission ar	nd Drive Train Oil, 30W	55 Gallon Drum					
9	Quantity: 220	UOM: Gallon	Unit Price:	\$14.00 Total:	\$3,080.00			
	Manufacturer:	Mobil		ψ11.00 Potαl.	<b>\$0,000.00</b>			
	Manufacturer #:	Trans HD 30W, SAE						
	Item Attribute							
	1. Manufacture							
		le Manufacturer and Mo	del bidding.					
	MOBIL TRAN		<del>-</del>					

3	Transmission and Drive Train Oil, 50W, Bulk							
	Quantity: 100	UOM: Gallon	Unit Price:	\$16.78	Total:	\$1,678.00		
	Manufacturer:	Mobil	_					
	Manufacturer #:	Mobiltran HD 50W						
	Item Attributes							
	1. Manufacturer and Model							
	Please provide Manufacturer and Model bidding.							
	MOBIL TRANS HD 50W							
3	Grease, Multipur	rpose, #2						
1	Quantity: <u>1200</u>	UOM: Tube	Unit Price:	\$3.12	Total:	\$3,744.00		
	Manufacturer:	Mobil						
	Manufacturer #:	XHP 222 Special						
	Item Attributes	<b>S</b>						
	1. Manufacture	er and Model						
Please provide Manufacturer and Model bidding.								
		PRICE PER TUBE. MOBIL GREASE XHP 222 - SPECIAL (MULTIPURPOSE LITHIUM COMPLEX GREASE WITH						
	0.75% MOLY)	)						
3	Grease, Multipur	pose, #2						
_	Quantity: 2	UOM: Drum	Unit Price:	\$1,409.76	Total:	\$2,819.52		
	Manufacturer:	Mobil						
	Manufacturer #:	XHP 222 Special						
	Item Attributes	5						
	1. Manufacture	r and Model						
	Please provide	e Manufacturer and Model	bidding.					
	PRICE IS PER	3IL GREAS	SE XHP 222 -					
	SPECIAL (IVIU	JETIPURPUSE EITHIUW G	OMPLEX GREASE WITH 0	.75% MULY)				
3	Bar & Chain Oil (55 gal. drum)							
3	Quantity: <u>55</u> l	UOM: Gallon	Unit Price:	\$5.26	Total:	\$289.30		
	Manufacturer:	Mobil						
	Item Attributes	5						
	1. Manufacturer and Model Please provide Manufacturer and Model bidding.  CHAIN GUARD BAR & CHAIN OIL (MOBIL DOES NOT MAKE)							

3	Bar & Chain O	il						
4	Quantity: 20 UOM: Case No Bid							
	Manufacturer:	Stihl Premium						
	Manufacturer #	¢: 70108710211						
	Item Notes:							
		No Substitutions.  Case lot is 4 each of or	ne (1) gallon containers.					
_	 							
3 5	Cat TDTO, 30	W, Bulk						
	Quantity: 500	UOM: Gallon	Unit Price:	\$13.57 Total:	\$6,785.00			
	Manufacturer:	Cat or Equivalent						
	Item Notes:	tem Notes:  Needs to meet the Cat Specifications for Cleanliness as identified in most current edition of						
		Caterpillar SEBU6250-15		antineu in most cui	Terit edition of			
	Item Attribut	Item Attributes						
	-	rer and Model						
		ide manufacturer and mod	del bidding.					
	· ·	ALTERNATIVELY - MOBIL BRAND: MOBIL TRANS HD 30W						
_								
3	Cat TDTO, 50	W, Bulk						
	Quantity: <u>500</u>	UOM: Gallon	Unit Price:	\$16.78 Total:	\$8,390.00			
	Manufacturer:	Cat or Equivalent						
	Item Notes:	Needs to meet the Cat Si	pecifications for Cleanliness as ide	entified in most cur	rent edition of			
		Caterpillar SEBU6250-15	•	mined in most odi	Tone Galaon of			
	Item Attribut	es						
	1. Manufacturer and Model							
	Please provi	Please provide manufacturer and model bidding.						
	ALTERNATIVELY - MOBIL BRAND: MOBIL TRANS HD 50W							
2	Cat GO, 80W-	OO Pulk						
<b>3 7</b>	,	,		#40.00 T. ( )	Φ4.000.00			
	Quantity: 100	UOM: Gallon	Unit Price:	\$13.60 Total:	\$1,360.00			
	Manufacturer: Item Notes:	Cat or Equivalent						
	nem Notes:  Needs to meet the Cat Specifications for Cleanliness as identified in most current edition of							
Caterpillar SEBU6250-15 and ISO 4406:99.								
	Item Attribut							
	1. Manufactu							
	Please provi	ide manufacturer and mod						
			OBIL LUBE HD PLUS 80W90. PRIC	CE IS PER GALLO	N, 1 GALLON = 7.273			
	I POUNDS. B	BILLING WILL BE IN POUNI	JS					

3	Premium 2-Cycle Oil, HD Ultra							
ð		Quantity: 20 UOM: Case No Bio						
	Manufacturer: Stihl							
	Manufacturer #: 07813138010							
	Item Notes:	Item Notes:						
		Substitutions. e lot is 48 each of 6.4	Fl. oz. containers.					
3	Semi Synthetic 5W-2							
9	Quantity: 1000 UOI	И: <u>Gallon</u>	Unit Price:	\$8.84 To	tal: \$8,840.00			
	Manufacturer:							
	Item Notes:							
		To meet Ford specifications WSS-M2C945-B1 and Fiat Chrysler specification MS-6395  Price per gallon and not 55 gallon drum						
	Item Attributes							
	1. Manufacturer and	1. Manufacturer and Model						
	Please provide Manufacturer and Model bidding.							
	MOBIL SPECIAL 5W20, PRODUCT IS A SYNTHETIC BLEND							
4	Full Synthetic 0W-20,	Bulk						
Quantity: 100 UOM: Gallon Unit Price: \$15.92 Total:								
	Manufacturer:			ψ10.0 <u>2</u>	tal: \$1,592.00			
	Item Notes:							
		et General Motors De	exos 1 gallon environmentally frien	dly bag in a box co	ntainer			
	Item Attributes	caia 20 2ia ao 6ii (6)	gamen entil entil entitally men	ary sag in a son oo				
	1. Manufacturer and							
		nufacturer and Model	biddina.					
			_ SYNTHETIC, DEXOS APPF	ROVED. PRICE PEI	R GALLON IN A 6			
	GALLON BAG IN A		, 					
4	Multi-Purpose Grease	(Lithium)						
1	Quantity: 400 UOM	: Pound	Unit Price:	\$3.12 To	tal: \$1,248.00			
		upplier Notes: ALTERNATIVELY PER ITEM NO.26: MOBIL GREASE XHP 222 - SPECIAL. MULTIPURPOSE LITHIUM COMPLEX GREASE CONTAINING 0.75% MOLY						
	Item Attributes	tem Attributes						
	1. Manufacturer and	1. Manufacturer and Model						
	Please provide Mar	Please provide Manufacturer and Model bidding.						
	MOBIL GREASE XHP 222. A MULTI-PURPOSE LITHIUM COMPLEX GREASE. PRICE PER POUND, DRUM IS 396 POUNDS *NOTE: THIS DOES NOT CONTAIN MOLY							

**Response Total:** \$273,265.37

### Sharon R. Mulder

Sent:

Thursday, August 8, 2019 8:53 AM

To:

Jay D. Waegli

Cc:

Ron L. Bohaty; Leroy T. Geistlinger; Cory M. McQuiston

Subject:

RE: Award Recommendation - #19-190 - Annual Supply of Lubricants

# **AWARD RECOMMENDATION**

The Lancaster County Engineering Dept. shop has reviewed the bid responses for #19-190 – Annual Supply of Lubricants and made the following determination: Sapp Bros is the lowest responsible, responsive Bidder meeting all requirements as outlined in the bid documents and Ebid, therefore the Lancaster County Engineering Dept. shop recommends that the Full Proposal be awarded to Sapp Bros in the amount of \$273,265.37.

Jay Waegli Lancaster County Shop 444 Cherrycreek Road Lincoln, Ne 68528 402-441-6064

### Sharon R. Mulder

From:

Jay D. Waegli

Sent:

Thursday, August 8, 2019 11:33 AM

To:

Sharon R. Mulder

Cc:

Ron L. Bohaty; Leroy T. Geistlinger; Cory M. McQuiston

Subject:

RE: Award Recommendation - #19-190 - Annual Supply of Lubricants

Sharon,

Well I just added up all of our Lubricants that I believe we ordered in 2018 and the first part of 2019 and I added up like \$70,000, I am sure we will use more due to adding a few new machines, does this number sound correct for us?

Jay

From: Sharon R. Mulder <SMulder@lincoln.ne.gov>

Sent: Thursday, August 8, 2019 9:05 AM

To: Jay D. Waegli < JWaegli@lancaster.ne.gov>

Cc: Ron L. Bohaty <RBohaty@lancaster.ne.gov>; Leroy T. Geistlinger <LGeistlinger@lancaster.ne.gov>; Cory M.

McQuiston < CMcQuiston@lancaster.ne.gov>

Subject: RE: Award Recommendation - #19-190 - Annual Supply of Lubricants

Jay,

Do you know what the dollar amount of the County's portion of the contract would be?

Thanks, Sharon

From: Jay D. Waegli < JWaegli@lancaster.ne.gov >

Sent: Thursday, August 8, 2019 8:17 AM

To: Sharon R. Mulder <SMulder@lincoln.ne.gov>

**Cc:** Ron L. Bohaty <RBohaty@lancaster.ne.gov>; Leroy T. Geistlinger@lancaster.ne.gov>; Cory M.

McQuiston < CMcQuiston@lancaster.ne.gov>

Subject: RE: Award Recommendation - #19-190 - Annual Supply of Lubricants

### AWARD RECOMMENDATION

The Lancaster County Engineering Dept. shop has reviewed the bid responses for #19-190 – Annual Supply of Lubricants and made the following determination: Sapp Bros is the lowest responsible, responsive Bidder meeting all requirements as outlined in the bid documents and Ebid, therefore the Lancaster County Engineering Dept. shop recommends that the Full Proposal be awarded to Sapp Bros in the amount of \$273,265.37.

Jay Waegli Lancaster County Shop 444 Cherrycreek Road Lincoln, Ne 68528 402-441-6064